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QUESTION 1

Which options are available to edit bar charts? (Choose three.)
A. Changing patterns displayed in bars

B. Changing the major increment on the Y axis scale

C. Displaying data value labels

D. Changing the variable displayed on the X axis

Correct Answer: ABC

QUESTION 2

If you use the IBM SPSS Statistics Select Cases dialog to conduct analysis on a subset of cases and you want to keep
all cases in the same dataset, which option is appropriate?

A. Copy unselected cases to a new dataset
B. Copy selected cases to a new dataset
C. Filter out unselected cases

D. Delete unselected cases

Correct Answer: C

QUESTION 3

If you use the IBM SPSS Statistics Select Cases dialog to conduct analysis on a subset of cases and you want to keep
all cases in the same dataset, which option is appropriate?

A. Copy unselected cases to a new dataset
B. Copy selected cases to a new dataset
C. Delete unselected cases

D. Filter out unselected cases

Correct Answer: D

QUESTION 4

In the output of the CROSSTABS procedure, large residuals indicate agreement between the data and the null



hypothesis of independence.

A. True

B. False

Correct Answer: B

QUESTION 5

Using the Compute Variabledialog below, the target variable HighSchool will have the following values. (Choose two.)
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A. Value 1 if EDUC is less than or equal to 12

B. System-missing value if EDUC is greater than 12

C. The same value as EDUC if EDUC is less than or equal to 12




D. Value 0 if EDUC is greater than 12

Correct Answer: AB

QUESTION 6

What is the main advantage of using syntax?

A. It can be run using the menus.

B. It is the most popular way of running IBMSPSS Statistics.
C. It can be saved and retrieved for subsequent analyses.

D. It is the same format as syntax in other statistical software.

Correct Answer: C

QUESTION 7

Which variable name is correctly formed for use in an IBM SPSS Statistics data file?
A. 3job_categories

B. job_3 categories

C. Respondents\\' age

D. Employee safety

Correct Answer: B

QUESTION 8

Which operations are available from the File menu? (Choose three.)
A. Open and Save data files

B. Print the contents of the active IBM SPSS Statistics window

C. Exit IBM SPSS Statistics

D. Run the FREQUENCIES procedure

Correct Answer: ABC

QUESTION 9

In order to import data from databasesources such as Access and Oracle into IBM SPSS Statistics, you must first export



the data from the database to a tad file and then import this tad file into IBM SPSS Statistics?
A. True
B. False

Correct Answer: B

QUESTION 10

Which Pivoting Tray corresponds to the illustrated cross tabulation?
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 11

The IBM SPSS Statistics Select Cases provides various ways to select cases included in further analysis. If you needed
toconduct analysis on those respondents whose age is more than 30 years, earning in excess of $40000, which option



in this dialog would you choose to specify these criteria?
A. Random sample of cases

B. Based on time or case range

C. Use filter variable

D. If condition is satisfied

Correct Answer: D

QUESTION 12

There are two major types of errors one can make when attempting to draw conclusions about the larger population
based on the information collected in the sample. For example, when performing an Independent Samples T-Test, one
type of error that can occur is when there are significant differences between the groups based on a scale level
dependent variable, but the test fails to detect them. Which of the following choices describe this sort of error? (Choose
two.)

A. Type i error

B. Type ii error

C. False negative

D. False positive

Correct Answer: BC
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